

# APPROXIMATION OF BOREL DERIVATIVES OF FUNCTIONS VIA NON-LINEAR SINGULAR INTEGRAL OPERATORS

Harun Karsli and Ismail U. Tiryaki

Communicated by P. K. BANERJI

MSC 2010 Classifications: Primary 41A35, 41-41; Secondary 47G10, 28C10.

Keywords and phrases: Pointwise convergence, Borel derivative, Nonlinear singular integral.

**Abstract.** In this paper, we consider convolution type nonlinear singular integral operators of the form

$$T_\lambda(f; x) = \int_a^b K_\lambda(t - x, f(t)) dt,$$

where  $\langle a, b \rangle$  is an arbitrary interval in  $\mathbb{R}$ ,  $\lambda \in \Lambda$ ,  $f \in L_1\langle a, b \rangle$  and  $K_\lambda$  is a family of kernels satisfying suitable conditions. We give some approximation results with regard to the convergence of the operators  $T_\lambda$  to right, left, and symmetric Borel differentiable functions.

We note that our results extend some of the previous results obtained in [5] and [6] which they cope with the linear singular integral operators.

## 1 Introduction

The problem of approximation of  $r^{th}$  finite derivatives of functions belonging to  $L_1(-\pi, \pi)$  by means of linear singular integral operators of convolution type considered in [15] as the following form

$$U(f; x, \lambda) = \int_{-\pi}^{\pi} f(t) K(t - x, \lambda) dt, \quad x \in (-\pi, \pi)$$

that was investigated by Taberski, where the kernel  $K(t, \lambda)$  is a singular function and satisfies suitable assumptions. In [11] and [12], Karsli and Ibikli extended Taberski's work to functions belonging to  $L_1(a, b)$ , under some weaker suitable assumptions. We also refer readers to another paper on this subject written by Gadjiev [4] as well as a monograph [3].

In paper [13], Musielak extended the concept of singularity over the case of nonlinear integral operators using the assumption of a Lipschitz condition for  $K_\lambda(t, f(t))$  with respect to the second variable. In virtue of this study, we can use the classical way for linear integral operators [3] to obtain some convergence results for nonlinear integral operators.

Recently, the first author studied both pointwise convergence and rate of pointwise convergence of the nonlinear singular integral operators defined by

$$T_\lambda(f; x) = \int_a^b K_\lambda(t - x, f(t)) dt, \quad x \in \langle a, b \rangle \tag{1.1}$$

where  $\langle a, b \rangle$  is an arbitrary interval in  $\mathbb{R}$ ,  $\lambda \in \Lambda$ ,  $f \in L_1\langle a, b \rangle$  and  $K_\lambda$  is a family of kernels satisfying suitable properties ( see [7]- [10] and [14]).

The goal of this paper is to obtain some convergence results for the derivatives of the operators (1.1). To the best of our knowledge, we can say that this study is the first paper on this subject by means of nonlinear singular integral operators.

## 2 Preliminaries

Let  $\Lambda$  be a nonempty set of indices with a suitable topology and  $\lambda_0$  be an accumulation point of  $\Lambda$  in this topology. We denote the family of all neighborhoods of the neutral element  $\theta$  of  $\mathbb{R}$  by  $\mathcal{U}(\theta)$  and  $x_0$  is a fixed accumulation point of  $\mathbb{R}$ . We take a family  $\mathcal{K}$  of functions  $K_\lambda : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$  with  $K_\lambda(t, 0) = 0$  for all  $t \in \mathbb{R}$  and  $\lambda \in \Lambda$  such that  $K_\lambda(t, u)$  integrable over  $\mathbb{R}$  with respect to  $t$ , in the sense of Lebesgue measure, for all values of the index  $\lambda$  and second variable  $u$ . The family  $\mathcal{K}$  will be called a kernel. In addition, if the kernel function  $K_\lambda(t, u)$  is continuous in  $\mathbb{R}$  for every  $t \in \mathbb{R}$ , then the kernel function is called Carathéodory kernel function.

We assume that  $K_\lambda : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$  is a kernel satisfying the following conditions: (‡)

a) Let  $L_\lambda(\bullet)$  be any differentiable and integrable function such that

$$\left[ \frac{\partial}{\partial x} K_\lambda(t - x, u) - \frac{\partial}{\partial x} K_\lambda(t - x, v) \right] = \frac{\partial}{\partial x} L_\lambda(t - x) [u - v],$$

holds for every  $t$  and any  $\lambda \in \Lambda$  where  $u, v \in \mathbb{R}$ .

b)  $\lim_{\lambda \rightarrow \lambda_0} \int_{\mathbb{R} \setminus U} L_\lambda(z) dz = 0$ , for every  $U \in \mathcal{U}(0)$ .

c)  $\lim_{\lambda \rightarrow \lambda_0} \left[ \sup_{|z| \geq \delta} L_\lambda(z) \right] = 0$ , for every  $\delta > 0$ .

d)  $\lim_{\lambda \rightarrow \lambda_0} \int_{\mathbb{R}} L_\lambda(z) dz = 1$ .

e) There exists a  $\delta_0 > 0$  such that  $L_\lambda(z)$  is non-increasing on  $[0, \delta_0)$  and non-decreasing on  $(-\delta_0, 0]$  for any  $\lambda \in \Lambda$ .

**Theorem 2.1.** [1] Let  $1 \leq p < \infty$  and assume that a function  $K_\lambda(t, u)$  is a kernel. If  $f \in L_p(a, b)$ , then  $T_\lambda(f) \in L_p(a, b)$ , for every  $\lambda \in \Lambda$ .

Readers can find the following well-known definition in [6].

**Definition 2.2.** A function  $f(t)$  has a right Borel derivative  $\alpha (\neq \infty)$  at the point  $x_0 \in \mathbb{R}$  if

$$\lim_{h \rightarrow 0^+} \frac{1}{h} \int_0^h \frac{f(x_0 + t) - f(x_0)}{t} dt = \alpha$$

and we denote it  $BD^+ f(x_0)$ .

Similarly, a function  $f(t)$  has a left Borel derivative  $\beta (\neq \infty)$  at the point  $x_0 \in \mathbb{R}$  if

$$\lim_{h \rightarrow 0^+} \frac{1}{h} \int_0^h \frac{f(x_0) - f(x_0 - t)}{t} dt = \beta$$

and we denote it  $BD^- f(x_0)$ .

A function  $f(t)$  has a symmetric Borel derivative  $\gamma (\neq \infty)$  at the point  $x_0 \in \mathbb{R}$  if

$$\lim_{h \rightarrow 0^+} \frac{1}{h} \int_0^h \frac{f(x_0 + t) - f(x_0 - t)}{2t} dt = \gamma$$

and we write it  $BD_s f(x_0)$ , where the integrals are taken in the sense of  $\lim_{\varepsilon \rightarrow 0^+} \int_{\varepsilon}^h$ .

Note that, if  $BD^+ f(x_0)$  and  $BD^- f(x_0)$  exist, then clearly  $BD_s f(x_0)$  exists and

$$BD_s f(x_0) = \frac{BD^+ f(x_0) + BD^- f(x_0)}{2}$$

holds true.

Obviously, if the ordinary derivative of  $f(x)$  at  $x_0$  exists, then so does Borel derivatives and the following equalities

$$BD^+ f(x_0) = BD^- f(x_0) = BD_s f(x_0) = f'(x_0)$$

hold.

### 3 Convergence of the derivatives

Now, we will investigate the approximation properties of finite first derivative of the operator  $T_\lambda$  in  $L_1\langle a, b \rangle$ .

**Theorem 3.1.** *Let assume that all the conditions of  $(\ddagger)$  are satisfied by the kernel function  $K_\lambda(t, u)$  and also  $\frac{\partial}{\partial t} L_\lambda(t)$  are piecewise continuous function with respect to  $t$  on  $(-\infty, \infty)$  having the following equality*

$$\lim_{\lambda \rightarrow \lambda_0} \sup_{\delta \leq |t|} \left| \frac{\partial}{\partial t} L_\lambda(t) \right| = 0. \tag{3.1}$$

If the function  $f \in L_1(a, b)$  has a finite derivative  $f'(x)$  at  $x_0$ , then we obtain

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \frac{\partial}{\partial x} T_\lambda(f; x) = BD_s f(x_0).$$

*Proof.* Suppose that

$$x_0 + \delta < b, \quad x_0 - \delta > a \quad \text{and} \quad 0 \leq x_0 - x < \frac{\delta}{2}, \tag{3.2}$$

for any  $0 < \delta < \delta_0$ . Define

$$g(t) := f(x_0) + (t - x_0)BD_s f(x_0). \tag{3.3}$$

Clearly,  $g(t)$  is a linear polynomial.

At first, we start proving the theorem for  $g(t)$  by introducing a new function  $\tilde{g} \in L_1(\mathbb{R})$  given by

$$\tilde{g}(t) := \begin{cases} g(t) & , \quad t \in \langle a, b \rangle \\ 0 & , \quad t \notin \langle a, b \rangle \end{cases}. \tag{3.4}$$

If we apply the operator  $T_\lambda$  to the function  $g(t)$ , then we have

$$T_\lambda(g; x) = \int_a^b K_\lambda(t - x, g(t))dt$$

and using (3.4) one can rewrite the last equality as follows:

$$T_\lambda(\tilde{g}; x) = \int_{\mathbb{R}} K_\lambda(t - x, \tilde{g}(t))dt. \tag{3.5}$$

Differentiating the above equality with respect to  $x$  and using (‡ a) yield

$$\frac{\partial}{\partial x} T_\lambda(\tilde{g}; x) = \int_{\mathbb{R}} \frac{\partial}{\partial x} K_\lambda(t - x, \tilde{g}(t)) dt = \int_{\mathbb{R}} \frac{\partial L_\lambda(t - x)}{\partial x} \tilde{g}(t) dt = - \int_{\mathbb{R}} \tilde{g}(t) \frac{\partial L_\lambda(t - x)}{\partial t} dt.$$

Using the integration by parts, we obtain

$$\frac{\partial}{\partial x} T_\lambda(\tilde{g}; x) = \int_{\mathbb{R}} \tilde{g}'(t) L_\lambda(t - x) dt.$$

Using (3.3), (3.4) and (‡ d) we have

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \frac{\partial}{\partial x} T_\lambda(\tilde{g}; x) = BD_s f(x_0).$$

Here, we set

$$I(x, \lambda) := \frac{\partial}{\partial x} T_\lambda(\tilde{g}; x) - \frac{\partial}{\partial x} T_\lambda(f; x). \tag{3.6}$$

it is enough to show the following equality for the proof of the theorem

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} |I(x, \lambda)| = 0.$$

For this purpose, we take absolute value of (3.6), then according to (‡ a), (3.19) and (3.4), it is easy to see that

$$\begin{aligned} |I(x, \lambda)| &= \left| \int_a^b \frac{\partial}{\partial x} K_\lambda(t - x, f(t)) dt - \int_a^b \frac{\partial}{\partial x} K_\lambda(t - x, g(t)) dt \right| \\ &\leq \int_a^b |f(t) - g(t)| \left| \frac{\partial}{\partial x} L_\lambda(t - x) \right| dt. \end{aligned}$$

Since the function  $f \in L_1(a, b)$  possess a finite derivative  $f'(x)$  at  $x_0$ , we can divide the last integral into three terms as follows:

$$\begin{aligned} |I(x, \lambda)| &\leq \left\{ \int_a^{x_0-\delta} + \int_{x_0-\delta}^{x_0+\delta} + \int_{x_0+\delta}^b \right\} |f(t) - g(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt \\ &=: I_1(x, \lambda) + I_2(x, \lambda) + I_3(x, \lambda). \end{aligned} \tag{3.7}$$

We now fix this  $\delta$  and estimate  $I_1(x, \lambda)$ ,  $I_2(x, \lambda)$  and  $I_3(x, \lambda)$  as follows:

$$I_1(x, \lambda) = \int_a^{x_0-\delta} |f(t) - g(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt.$$

According to (3.2), we have  $t - x < x_0 - x - \delta < -\frac{\delta}{2} < 0$ . Thus, we get

$$I_1(x, \lambda) \leq \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right| \int_a^{x_0-\delta} |f(t) - g(t)| dt.$$

Since  $f, g \in L_1(a, b)$ , then  $f - g \in L_1(a, b)$ . So, there exists a positive constant  $M$  such that  $\|f - g\|_{L_1(a, b)} \leq M$ . Consequently, we have

$$I_1(x, \lambda) \leq M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|. \tag{3.8}$$

In the same way, we obtain

$$I_3(x, \lambda) \leq M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|. \tag{3.9}$$

Finally, we can tackle the integral  $I_2(x, \lambda)$ . For each  $\varepsilon > 0$  there exists a  $\delta > 0$  such that

$$I_2(x, \lambda) = \int_{x_0-\delta}^{x_0+\delta} |f(t) - g(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt \leq \varepsilon \int_{x_0-\delta}^{x_0+\delta} |t - x_0| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt.$$

Setting

$$I_{2,1}(x, \lambda) := \int_{x_0-x-\delta}^{x_0-x+\delta} |x_0 - x - t| \left| \frac{\partial}{\partial t} L_\lambda(t) \right| dt,$$

and using († e) together with (3.2), we can now obtain the following estimate:

$$\begin{aligned} I_{2,1}(x, \lambda) &= \int_{x_0-x-\delta}^{x_0-x} |x_0 - x - t| \left| \frac{\partial}{\partial t} L_\lambda(t) \right| dt + \int_{x_0-x}^{x_0-x+\delta} |x_0 - x - t| \left| \frac{\partial}{\partial t} L_\lambda(t) \right| dt \\ &= \int_{x_0-x-\delta}^0 |x_0 - x - t| \left| \frac{\partial}{\partial t} L_\lambda(t) \right| dt + \int_0^{x_0-x} |x_0 - x - t| \left| \frac{\partial}{\partial t} L_\lambda(t) \right| dt \\ &\quad + \int_{x_0-x}^{x_0-x+\delta} (x_0 - x - t) \frac{\partial}{\partial t} L_\lambda(t) dt \\ &= \int_{x_0-\delta}^{x_0} (t - x_0) \frac{\partial}{\partial t} L_\lambda(t - x) dt + \int_{x_0}^{x_0+\delta} (x_0 - t) \frac{\partial}{\partial t} L_\lambda(t - x) dt. \end{aligned}$$

Using integration by parts and († e), we obtain:

$$\begin{aligned} \int_{x_0-\delta}^{x_0} (t - x_0) \frac{\partial}{\partial t} L_\lambda(t - x) dt &= (t - x_0) L_\lambda(t - x) \Big|_{x_0-\delta}^{x_0} + \int_{x_0-\delta}^{x_0} L_\lambda(t - x) dt \\ &= \delta L_\lambda(x_0 - \delta - x) + \int_{x_0-\delta}^{x_0} L_\lambda(t - x) dt \end{aligned}$$

and

$$\begin{aligned} \int_{x_0}^{x_0+\delta} (x_0 - t) \frac{\partial}{\partial t} L_\lambda(t - x) dt &= (x_0 - t) L_\lambda(t - x) \Big|_{x_0}^{x_0+\delta} + \int_{x_0}^{x_0+\delta} L_\lambda(t - x) dt \\ &= \delta L_\lambda(x_0 + \delta - x) + \int_{x_0}^{x_0+\delta} L_\lambda(t - x) dt. \end{aligned}$$

Thus, we get

$$I_2(x, \lambda) \leq \varepsilon \delta \{L_\lambda(x_0 - \delta - x) + L_\lambda(x_0 + \delta - x)\} + \varepsilon \int_{\mathbb{R}} L_\lambda(t) dt. \tag{3.10}$$

Substituting (3.8)-(3.10) into (3.7), we obtain

$$|I(x, \lambda)| \leq 2M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right| + \varepsilon \left[ \delta \{L_\lambda(x_0 - \delta - x) + L_\lambda(x_0 + \delta - x)\} + \int_{\mathbb{R}} L_\lambda(t) dt \right]$$

which in view of (‡ c - d) and (3.1) approaches to zero as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$ . The estimate  $-\frac{\delta}{2} < x_0 - x \leq 0$  is obtained in similar way. So this completes the proof.  $\square$

**Theorem 3.2.** *Suppose that the hypothesis of Theorem 3.1 are satisfied. Let  $f \in L_1(a, b)$  be such that finite  $f'_+(x)$  and  $f'_-(x)$  derivatives exist at  $x_0$ , then*

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \frac{\partial}{\partial x} T_\lambda(f; x) = N BDf_+(x_0) + (1 - N)BDf_-(x_0)$$

where

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \int_{x_0}^{\infty} L_\lambda(t - x) dt = N, \quad 0 \leq N \leq 1. \tag{3.11}$$

*Proof.* Suppose that (3.2) is satisfied for any  $0 < \delta < \delta_0$ . Setting

$$g(t) = \begin{cases} f(x_0) + (t - x_0)BDf_-(x_0) & , \quad a \leq t < x_0 \\ f(x_0) + (t - x_0)BDf_+(x_0) & , \quad x_0 \leq t \leq b \end{cases} \tag{3.12}$$

we also define a function  $\tilde{g}(t)$  as in (3.4). According to the proof of the Theorem 3.1, one can write

$$\frac{\partial}{\partial x} T_\lambda(g; x) = \int_{\mathbb{R}} \tilde{g}'(t) L_\lambda(t - x) dt. \tag{3.13}$$

Substituting (3.12) into (3.4) and using it in (3.13), we have

$$\frac{\partial}{\partial x} T_\lambda(g; x) = BDf_-(x_0) \int_{-\infty}^{x_0} L_\lambda(t - x) dt + BDf_+(x_0) \int_{x_0}^{\infty} L_\lambda(t - x) dt$$

and by (3.11), we get

$$\frac{\partial}{\partial x} T_\lambda(g; x) = N BDf_+(x_0) + (1 - N)BDf_-(x_0)$$

as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$ . Setting

$$I(x, \lambda) := \frac{\partial}{\partial x} T_\lambda(g; x) - \frac{\partial}{\partial x} T_\lambda(f; x).$$

Since the function  $f \in L_1(a, b)$  possess a finite  $f'_+(x)$  and  $f'_-(x)$  derivatives at  $x_0$ , we can divide the last integral into four terms as follows:

$$|I(x, \lambda)| \leq \left\{ \int_a^{x_0-\delta} + \int_{x_0-\delta}^{x_0} + \int_{x_0+\delta}^b + \int_{x_0}^{x_0+\delta} \right\} |f(t) - g(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt = : I_1(x, \lambda) + I_2(x, \lambda) + I_3(x, \lambda) + I_4(x, \lambda).$$

Fix this  $\delta$  and consider the integrals  $I_2(x, \lambda)$  and  $I_4(x, \lambda)$ . For each  $\varepsilon > 0$  there exists a  $\delta > 0$  such that

$$I_2(x, \lambda) = \int_{x_0-\delta}^{x_0} \left| \frac{f(t) - f(x_0)}{t - x_0} - BDf_-(x_0) \right| |t - x_0| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt \leq \varepsilon \int_{x_0-\delta}^{x_0} (x_0 - t) \frac{\partial}{\partial t} L_\lambda(t - x) dt \tag{3.14}$$

and

$$\begin{aligned}
 I_4(x, \lambda) &= \int_{x_0}^{x_0+\delta} \left| \frac{f(t) - f(x_0)}{t - x_0} - BDf_+(x_0) \right| |t - x_0| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt \\
 &\leq \varepsilon \int_{x_0}^{x_0+\delta} (x_0 - t) \frac{\partial}{\partial t} L_\lambda(t - x) dt
 \end{aligned}
 \tag{3.15}$$

Using (3.14) and (3.15) together, we have

$$I_2(x, \lambda) + I_4(x, \lambda) \leq \varepsilon \int_{x_0-\delta}^{x_0+\delta} (x_0 - t) \frac{\partial}{\partial t} L_\lambda(t - x) dt.$$

Again using integration by parts, we obtain

$$I_2(x, \lambda) + I_4(x, \lambda) \leq \varepsilon \left[ -\delta \{L_\lambda(x_0 + \delta - x) + L_\lambda(x_0 - \delta - x)\} + \int_{\mathbb{R}} L_\lambda(t - x) dt \right].
 \tag{3.16}$$

In view of (3.8) and (3.9), one has

$$I_1(x, \lambda) + I_3(x, \lambda) \leq 2M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|.
 \tag{3.17}$$

Hence, we get from (3.16) and (3.17)

$$\begin{aligned}
 |I(x, \lambda)| &\leq \varepsilon \left[ -\delta \{L_\lambda(x_0 + \delta - x) + L_\lambda(x_0 - \delta - x)\} + \int_{\mathbb{R}} L_\lambda(t - x) dt \right] \\
 &\quad + 2M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|
 \end{aligned}$$

that, in the light of conditions ( $\dagger$   $a - d$ ), approaches to zero as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$  and this completes the proof. □

**Theorem 3.3.** *Suppose that the hypothesis of Theorem 3.1 are satisfied. Let  $f \in L_1(a, b)$  be such that  $BDf_+(x)$  and  $BDf_-(x)$  (right and left Borel derivatives) exist at  $x_0$ , then*

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \frac{\partial}{\partial x} T_\lambda(f; x) = N BDf_+(x_0) + (1 - N) BDf_-(x_0)$$

where

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \int_{x_0}^{\infty} L_\lambda(t - x) dt = N, \quad 0 \leq N \leq 1.
 \tag{3.18}$$

*Proof.* Suppose that

$$x_0 + \delta < b, \quad x_0 - \delta > a \quad \text{and} \quad 0 \leq x_0 - x < \frac{\delta}{2},$$

for any  $0 < \delta < \delta_0$ . Clearly, we have

$$T_\lambda(f; x) = \int_a^b K_\lambda(t - x, f(t)) dt.$$

Defining a new function  $\tilde{f} \in L_1(\mathbb{R})$  by

$$\tilde{f}(t) := \begin{cases} f(t) & , t \in (a, b) \\ 0 & , t \notin (a, b) \end{cases} \tag{3.19}$$

and using (3.19), we can rewrite the last equality as follows:

$$T_\lambda(f; x) = T_\lambda(\tilde{f}; x) = \int_{\mathbb{R}} K_\lambda(t - x, \tilde{f}(t)) dt.$$

Differentiating the inequality (3.5) with respect to  $x$  and using (‡ a) yield

$$\frac{\partial}{\partial x} T_\lambda(f; x) = - \int_{\mathbb{R}} \tilde{f}(t) \frac{\partial}{\partial t} L_\lambda(t - x) dt.$$

In view of the definitions of right and left Borel derivatives, we divide the last integral as follows:

$$\begin{aligned} I(x, \lambda) &= - \left\{ \int_{t \notin (a, b)} + \int_{|t-x_0| > \delta, t \in (a, b)} + \int_{x_0-\delta}^{x_0} + \int_{x_0}^{x_0+\delta} \right\} \tilde{f}(t) \frac{\partial}{\partial t} L_\lambda(t - x) dt \\ &=: I_0(x, \lambda) + I_1(x, \lambda) + I'_1(x, \lambda) + I_2(x, \lambda) + I_3(x, \lambda). \end{aligned}$$

We now fix this  $\delta$  and estimate  $I_1(x, \lambda), I'_1(x, \lambda), I_2(x, \lambda)$  and  $I_3(x, \lambda)$  as follows:

$$I_1(x, \lambda) \leq \int_a^{x_0-\delta} |f(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt.$$

According to (3.2), we have  $t - x < x_0 - x - \delta < -\frac{\delta}{2} < 0$ . Thus, we get

$$I_1(x, \lambda) \leq \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right| \int_a^b |f(t)| dt.$$

Since  $f \in L_1(a, b)$ , then there exists a positive constant  $M$  with  $\|f\|_{L_1(a, b)} \leq M$ . Consequently, we have

$$I_1(x, \lambda) \leq M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|.$$

In the same way, we obtain

$$I'_1(x, \lambda) = \int_{x_0+\delta}^b |f(t)| \left| \frac{\partial}{\partial t} L_\lambda(t - x) \right| dt \leq M \sup_{\frac{\delta}{2} < |u|} \left| \frac{\partial}{\partial u} L_\lambda(u) \right|.$$

Finally, let us consider the integrals  $I_2(x, \lambda)$  and  $I_3(x, \lambda)$ . For each  $\varepsilon > 0$  there exists a  $\delta > 0$



such that

$$\begin{aligned}
 I_2(x, \lambda) &= \int_{x_0-\delta}^{x_0} -f(t) \frac{\partial}{\partial t} L_\lambda(t-x) dt = \int_{-\delta}^0 -f(x_0+t) \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &= \int_{-\delta}^0 [f(x_0) - f(x_0+t)] \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt - f(x_0) \int_{-\delta}^0 \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &= \int_{-\delta}^0 \left[ \frac{f(x_0) - f(x_0+t)}{t} - BDf_-(x_0) \right] t \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &\quad + BDf_-(x_0) \int_{-\delta}^0 t \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt - f(x_0) \int_{-\delta}^0 \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &=: I_{2,1}(x, \lambda) + I_{2,2}(x, \lambda) + I_{2,3}(x, \lambda),
 \end{aligned}$$

and

$$\begin{aligned}
 I_3(x, \lambda) &= \int_{x_0}^{x_0+\delta} f(t) \frac{\partial}{\partial t} L_\lambda(t-x) dt = \int_0^\delta f(x_0+t) \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &= \int_0^\delta [f(x_0+t) - f(x_0)] \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt + f(x_0) \int_0^\delta \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt. \\
 &= \int_0^\delta \left[ \frac{f(x_0+t) - f(x_0)}{t} - BDf_+(x_0) \right] \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &\quad + BDf_+(x_0) \int_0^\delta t \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt + f(x_0) \int_0^\delta \frac{\partial}{\partial t} L_\lambda(x_0+t-x) dt \\
 &=: I_{3,1}(x, \lambda) + I_{3,2}(x, \lambda) + I_{3,3}(x, \lambda),
 \end{aligned}$$

Setting

$$F(t) := \int_0^t \left[ \frac{f(x_0+y) - f(x_0)}{y} - BDf_+(x_0) \right] dy,$$

then according to (3.1), for each  $\varepsilon > 0$  there exists a  $\delta > 0$  such that

$$|F(t)| \leq \varepsilon t.$$

for all  $0 < t \leq \delta$  and

$$G(t) := \int_t^0 \left[ \frac{f(x_0) - f(x_0-y)}{y} - BDf_-(x_0) \right] dy,$$

then according to (3.1), for each  $\varepsilon > 0$  there exists a  $\delta > 0$  such that

$$|G(t)| \leq \varepsilon |t|$$

for all  $-\delta \leq t < 0$ .

We now fix this  $\delta$  and estimate  $I_2(x, \lambda)$  and  $I_3(x, \lambda)$ , respectively.

$$\begin{aligned}
 I_{3,1}(x, \lambda) &= \int_0^\delta \left[ t \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) \right] dF(t) \\
 &= \left[ t \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) \right] F(t) \Big|_0^\delta - \int_0^\delta F(t) \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) dt \\
 &\quad - \int_0^\delta F(t) t \frac{\partial^2}{\partial t^2} L_\lambda(x_0 + t - x) dt \\
 &\leq \varepsilon \delta^2 \left[ \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) \right]_\delta + \varepsilon \int_0^\delta t \left| \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) \right| dt \\
 &\quad + \varepsilon \int_0^\delta t^2 \left| \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) \right| dt.
 \end{aligned}$$

Integration by parts and using  $(\ddagger e)$ , it is easy to see that the right hand side of the last inequality approaches to zero as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$ .

Using the similar method,

$$|I_{2,1}(x, \lambda)| = \left| \int_{-\delta}^0 \left[ \frac{f(x_0) - f(x_0 + t)}{t} - BDf_-(x_0) \right] t \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) dt \right|$$

goes to zero as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$ . Again integration by parts and using (3.1), one can easily shown that

$$I_{2,3}(x, \lambda) + I_{3,3}(x, \lambda) \rightarrow 0$$

as  $(x, \lambda) \rightarrow (x_0, \lambda_0)$ . For the terms  $I_{2,2}(x, \lambda)$  and  $I_{3,2}(x, \lambda)$ , we can find the following equality.

$$\begin{aligned}
 I_{2,2}(x, \lambda) + I_{3,2}(x, \lambda) &= BDf_-(x_0) \int_{-\delta}^0 t \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) dt \\
 &\quad + BDf_+(x_0) \int_0^\delta t \frac{\partial}{\partial t} L_\lambda(x_0 + t - x) dt \\
 &= BDf_-(x_0) \int_{x_0-\delta}^{x_0} t \frac{\partial}{\partial t} L_\lambda(t - x) dt \\
 &\quad + BDf_+(x_0) \int_{x_0}^{x_0+\delta} t \frac{\partial}{\partial t} L_\lambda(t - x) dt.
 \end{aligned}$$

Integration by parts and using (3.18) yield

$$I_{2,2}(x, \lambda) + I_{3,2}(x, \lambda) \rightarrow N BDf_+(x_0) + (1 - N)BDf_-(x_0).$$

The estimate  $-\frac{\delta}{2} < x_0 - x \leq 0$  is obtained in similar way. So this completes the proof. □

**Corollary 3.4.** *If we choose  $N = \frac{1}{2}$  in Theorem 3.3, then we obtain*

$$\lim_{(x, \lambda) \rightarrow (x_0, \lambda_0)} \frac{\partial}{\partial x} T_\lambda(f; x) = \frac{BDf_+(x_0) + BDf_-(x_0)}{2}.$$

**Corollary 3.5.** Let  $f \in L_1(a, b)$  has a symmetric Borel derivative  $(BDf_s(x))$  at  $x_0$ . If the hypothesis of Theorem 3.3 are satisfied, then

$$\lim_{(x,\lambda) \rightarrow (x_0,\lambda_0)} \frac{\partial}{\partial x} T_\lambda(f; x) = BD_s f(x_0).$$

**Example 3.6.** As a particular case, let the function  $K_\lambda(t, u)$  be linear with respect to the second variable, i.e.,

$$K_\lambda(t, u) = D_\lambda(t) u$$

where  $D_\lambda(t)$  satisfies all the conditions of (‡). This form has been using in Approximation Theory since its beginning ([3]).

**Example 3.7.** Let consider the following function

$$K_\lambda(t, u) = (2\lambda^2 t u + H(u)) \chi_{[0, \frac{1}{\lambda}]}(t),$$

where  $H(u)$  is a function independent of  $t$ ,  $\Lambda = [1, \infty)$  is a set of indices equipped with natural topology and let an accumulation point  $\lambda_0$  of  $\Lambda$  be at infinity with regard to this topology. First of all, note that  $K_\lambda(t, u)$  is a kernel, i.e.,  $K_\lambda(t, 0) = 0$ .

It is seen that for every  $u \in \mathbb{R}$ ,

$$\frac{\partial}{\partial x} K_\lambda(t - x, u) = \begin{cases} -2\lambda^2 u & , \quad t - x \in [0, \frac{1}{\lambda}] \\ 0 & , \quad t - x \notin [0, \frac{1}{\lambda}] \end{cases} . \tag{3.20}$$

According to (3.20), we obtain  $\frac{\partial}{\partial x} L_\lambda(t - x)$  as

$$\frac{\partial}{\partial x} L_\lambda(t - x) = \begin{cases} -2\lambda^2 & , \quad t - x \in [0, \frac{1}{\lambda}] \\ 0 & , \quad t - x \notin [0, \frac{1}{\lambda}] \end{cases} \tag{3.21}$$

which implies

$$L_\lambda(z) = \begin{cases} 2\lambda^2 z & , \quad z \in [0, \frac{1}{\lambda}] \\ 0 & , \quad z \notin [0, \frac{1}{\lambda}] \end{cases} .$$

In this case, one can easily seen that

$$\lim_{\lambda \rightarrow \infty} \int_{\mathbb{R}} L_\lambda(z) dz = 1 < \infty, \lim_{\lambda \rightarrow \infty} \int_{\mathbb{R} \setminus U} L_\lambda(z) dz = 0$$

for every  $U \in \mathcal{U}(0)$  and

$$\lim_{\lambda \rightarrow \infty} \left[ \sup_{|z| \geq \delta} L_\lambda(z) \right] = 0$$

for every  $\delta > 0$ . In addition, by (3.21), we deduce that  $L_\lambda(z)$ , as a function of  $z$ , is non-increasing on  $[0, \infty)$  and non-decreasing on  $(-\infty, 0]$  for each  $\lambda \in \Lambda$ .

Hence, all the conditions of (‡) are satisfied by the kernel function  $K_\lambda(t, u)$ .

**Example 3.8.** In a similar way, we introduce some kind of nonlinear moment kernels on some suitable sets, by setting

$$K_\lambda(t, u) = L_\lambda(t)u + G_\lambda(u),$$

where  $(G_\lambda)$  is family of functions independent of  $t$ . Such kind of kernels and their operator forms in the theory of nonlinear integral operators were deeply investigated (see [1], [2]).

## References

- [1] C. Bardaro, J. Musielak, G. Vinti, *Nonlinear Integral Operators and Applications*, De Gruyter Series in Nonlinear Analysis and Applications, Vol. 9, xii + 201 pp., 2003.
- [2] A. Boccuto and X. Dimitriou, Modular filter convergence theorems for Urysohn integral operators and applications, *Acta. Math. Sin.-English Ser.* (2013) 29: 1055-1066. <https://doi.org/10.1007/s10114-013-1443-6>
- [3] P.L. Butzer and R.J. Nessel, *Fourier Analysis and Approximation*, V.1, Academic Press, New York, London, 1971.
- [4] A.D. Gadjiev, On convergence of integral operators depending on two parameters, *Dokl. Acad. Nauk. Azerb. SSR*, V.XIX, No: 12, (1963), 3-7.
- [5] E. Ibikli, Approximation of Borel derivatives of functions by singular integrals. *Trans. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci.* 21 (2001), no. 4, *Math. Mech.*, 72-76, 238.
- [6] T. Ikegami, On Poisson integrals. *Proc. Japan Acad.* 37 1961, 14-17.
- [7] H. Karsli, Convergence and rate of convergence by nonlinear singular integral operators depending on two parameters, *Appl. Anal.*, Vol 85, No: 6-7, (2006), 781-791.
- [8] H. Karsli, On approximation properties of a class of convolution type nonlinear singular integral operators, *Georgian Math. Jour.*, Vol. 15, No. 1, (2008), 77-86.
- [9] H. Karsli and V. Gupta, Rate of convergence by nonlinear integral operators for functions of bounded variation, *Calcolo*, Vol. 45, 2, (2008), 87-99.
- [10] H. Karsli, Some convergence results for nonlinear singular integral operators, *Demonstratio Math.*, Vol. XLVI No 4, (2013), 729-740.
- [11] H. Karsli and E. Ibikli, Approximation properties of convolution type singular integral operators depending on two parameters and of their derivatives in  $L_1(a, b)$ , *Proc. 16th Int. Conf. Jangjeon Math. Soc.* 16, (2005), 66-76.
- [12] H. Karsli and E. Ibikli, On convergence of convolution type singular integral operators depending on two parameters, *Fasciculi Mathematici*, No: 38, (2007), pp.25-39.
- [13] J. Musielak, On some approximation problems in modular spaces. In *Constructive Function Theory 1981* (Proc. Int. Conf. Varna, June 1-5, (1981), pp. 455-461, Publ. House Bulgarian Acad. Sci., Sofia 1983.
- [14] T. Swiderski and E. Wachnicki, Nonlinear Singular Integrals depending on two parameters, *Commentationes Math. XL*, (2000), 181-189.
- [15] R. Taberski, Singular integrals depending on two parameters, *Roczniki Polskiego towarzystwa matematycznego, Seria I. Prace matematyczne*, VII, (1962), 173-179.

## Author information

Harun Karsli, Department of Mathematics, Bolu Abant Izzet Baysal University, 14030, Bolu, Turkey.  
E-mail: [karsli\\_h@ibu.edu.tr](mailto:karsli_h@ibu.edu.tr)

Ismail U. Tiryaki, Department of Mathematics, Bolu Abant Izzet Baysal University, 14030, Bolu, Turkey.  
E-mail: [ismail@ibu.edu.tr](mailto:ismail@ibu.edu.tr)

Received: February 25, 2020

Accepted: May 12, 2020